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O& MR L —b (21K)

CHT2E ) 135 4EE (ST6EAH1IE NS SMTESHSIAET) ICAREUET) LA XITREUET)
T RIALOHE,  TEEZE] IZRHEE (BM64E3H31H) £ TICEEWET) LETH D,

(ZBRAEL10ALLE]
e ___ T "
TRER| ORER| AR | ZREK| B AR |ZRER| AREKR| Ak
HRERREALA L Y (I # LR 40 40 100.0 40 40 100.0 0 0 0.0
SR F 29 29 100.0 29 29| 100.0 0 0 0.0
WIERY: 29 29[ 100.0 29 29 100.0 0 0 0.0
PG R R 28 28 100.0 28 28| 100.0 0 0 0.0
TV 7 EREAE AL AL 26 26 100.0 26 26| 100.0 0 0 0.0
HAbREAER 26 26| 100.0 26 26| 100.0 0 0 0.0
SRR 25 25 100.0 25 25 100.0 0 0 0.0
R SR I PNES 23 23 100.0 23 23| 100.0 0 0 0.0
PR AT R A 21 21 100.0 20 20( 100.0 1 1| 100.0
T A RN T R 20 20 100.0 20 20| 100.0 0 0 0.0
5N AR MR R P A 20 20( 100.0 20 20( 100.0 0 0 0.0
HALSCEOR RN R 20 20 100.0 20 20 100.0 0 0 0.0
[ o R R NG 19 19| 100.0 19 19| 100.0 0 0 0.0
AEHRE ST R AR 19 19| 100.0 19 19| 100.0 0 0 0.0
(I B AR AR (I S AL 31 R 18 18| 100.0 18 18| 100.0 0 0 0.0
L6 Y AT 7 — KA AR AL P 2 18 18| 100.0 18 18| 100.0 0 0 0.0
KA LR 17 17| 100.0 17 17| 100.0 0 0 0.0
B A A7 R ) 17 17| 100.0 17 17| 100.0 0 0 0.0
FIAf B R 17 17| 100.0 17 17| 100.0 0 0 0.0
R B AR AR 17 17| 100.0 17 17| 100.0 0 0 0.0
BV A = R L e 16 16/ 100.0 16 16| 100.0 0 0 0.0
iR S NE S 16 16| 100.0 16 16| 100.0 0 0 0.0
LI 2 7l T A AL B P A 16 16/ 100.0 16 16| 100.0 0 0 0.0
[ A NE = T e 16 16| 100.0 16 16| 100.0 0 0 0.0
B IR AR AL R B P A 16 16| 100.0 16 16| 100.0 0 0 0.0
BB ER AR 16 16| 100.0 15 15| 100.0 1 1| 100.0
i AT AR AL R P AR 15 15| 100.0 15 15| 100.0 0 0 0.0
M AL A - R R (R AL 15 15| 100.0 15 15| 100.0 0 0 0.0
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TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
ERN T NES 15 15| 100.0 15 15| 100.0 0 0 0.0
IGLIEFE AL R P A% 14 14| 100.0 14 14| 100.0 0 0 0.0
MC L ] I g kAR — > B A 14 14| 100.0 14 14| 100.0 0 0 0.0
)i (2= 9 R R 14 14| 100.0 13 13| 100.0 1 1| 100.0
& K5 14 14| 100.0 14 14| 100.0 0 0 0.0
ER PN 14 14| 100.0 14 14| 100.0 0 0 0.0
" B R R 14 14| 100.0 14 14| 100.0 0 0 0.0
AR VAN T 7— R 13 13| 100.0 13 13| 100.0 0 0 0.0
S N 13 13| 100.0 13 13| 100.0 0 0 0.0
HEARY 13 13| 100.0 13 13| 100.0 0 0 0.0
R = e A fik & TTHEF 524 12 12| 100.0 12 12| 100.0 0 0 0.0
AN AN TR NE 2 12 12| 100.0 12 12| 100.0 0 0 0.0
FRZR) A AR AL TP A 12 12| 100.0 11 11| 100.0 1 1| 100.0
SRSV 12 12| 100.0 12 12| 100.0 0 0 0.0
GV S e VN 12 12| 100.0 12 12| 100.0 0 0 0.0
4 B R ELIR 12 12| 100.0 12 12| 100.0 0 0 0.0
H ARk AL R 12 12| 100.0 12 12| 100.0 0 0 0.0
B S VNS 12 12| 100.0 12 12| 100.0 0 0 0.0
KB E B AL R P AR 11 11| 100.0 11 11| 100.0 0 0 0.0
A R P 28 (R B A 11 11| 100.0 11 11| 100.0 0 0 0.0
RIREJFEAE AL R P AR 10 10| 100.0 10 10| 100.0 0 0 0.0
LAEABAFIL 10 10| 100.0 10 10| 100.0 0 0 0.0
5] Sk L I E 10 10| 100.0 10 10| 100.0 0 0 0.0
R 2 - BRI - 7 B A 10 10| 100.0 10 10| 100.0 0 0 0.0
CINEIEY SR fwNead 58 i NE 10 10| 100.0 10 10| 100.0 0 0 0.0
JR e LR 10 10| 100.0 10 10| 100.0 0 0 0.0
VNI E PR AL P AR 38 37 974 38 37 97.4 0 0 0.0
BHE A 28 27| 96.4 27 26|  96.3 1 1| 100.0
B P AR A 2 7 27 26/  96.3 26 26| 100.0 1 0 0.0
FH (5] S AT 7l R 23 22| 95.7 20 20[ 100.0 3 2| 66.7
At ] [ 0 B AR A B P AR 22 21| 95.5 22 21| 95.5 0 0 0.0
LA ALY 21 20/ 95.2 21 20/ 95.2 0 0 0.0
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TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
ORI 3 s B P A A 7 TP e 1 e 21 20| 95.2 21 20| 95.2 0 0 0.0
HUNEI#EZ LB UL 2 21 20/ 95.2 20 20 100.0 1 0 0.0
EIESE N 21 20|  95.2 21 20|  95.2 0 0 0.0
I va [E B OR 20 19|  95.0 19 19| 100.0 1 0 0.0
FOSR BT R 19 18| 94.7 19 18] 94.7 0 0 0.0
RELA KT 18 17| 94.4 18 17| 94.4 0 0 0.0
R ERE 18 17 94.4 17 16|  94.1 1 1| 100.0
R R A Ak B P A KB 33 311 93.9 30 30| 100.0 3 1| 333
KINE AR AR 16 15|  93.8 16 15|  93.8 0 0 0.0
JEB I I B PR AR A T P AR 16 15|  93.8 15 14| 93.3 1 1| 100.0
JUM RS IR (RS BHE AL ) 16 15|  93.8 16 15|  93.8 0 0 0.0
FLIRE = - Bl il Aol g B P A 15 14| 93.3 15 14| 93.3 0 0 0.0
KB AR A fE = P A% 44 41| 93.2 42 41| 97.6 2 0 0.0
SRR P AR 28 26/ 92.9 26 26| 100.0 2 0 0.0
[ R 13 12| 92.3 12 12| 100.0 1 0 0.0
JERRE Y R AR AL R AR 13 12| 92.3 13 12| 92.3 0 0 0.0
AR [ 00 i AL B 2 g 36 33 91.7 34 33 97.1 2 0 0.0
RIFA T e kB P PR B AR 12 11|  91.7 12 11| 91.7 0 0 0.0
R B E AL P DD I 12 11| 91.7 12 11 91.7 0 0 0.0
OO ZHPE R ALK FE 12 11| 91.7 11 11| 100.0 1 0 0.0
il E R AR Al & TTHE P 4% 23 21| 91.3 23 21| 91.3 0 0 0.0
Bt ot PR L AR AL B A% 34 31 91.2 29 26|  89.7 5 5| 100.0
TR I FE SRR AR 22 20[  90.9 20 191  95.0 2 1| 50.0
JEL IR I8 2 - LR 11 10 90.9 10 10| 100.0 1 0 0.0
B IR SN FNEY TR P NE 11 10| 90.9 10 10| 100.0 1 0 0.0
R =T AL HH 2 AR AL B P 2 32 29| 90.6 32 29| 90.6 0 0 0.0
INUINEEE Y NES 21 19/ 90.5 18 18| 100.0 3 1| 333
R AR AL P A T2 30 27| 90.0 29 26  89.7 1 1| 100.0
T 7 X — B A 10 9 90.0 8 8| 100.0 2 1| 50.0
AL PRl 2= 8 =5 PH A5 10 9] 90.0 9 9| 100.0 1 0 0.0
Rl EFR R 10 9 90.0 10 9 90.0 0 0 0.0
Fak (Y MC A E Btk B 25 29 26|  89.7 26 25| 96.2 3 1| 333
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TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
T SRR P A 19 17| 89.5 18 17| 94.4 1 0 0.0
PEESY MCAE BRE AL P L 19 17| 89.5 16 16| 100.0 3 1| 333
Pl 5 e fE R P AR 19 17| 89.5 18 17| 94.4 1 0 0.0
PR P A L & A R P 2 A R ()l L) 36 32 88.9 31 29 93.5 5 3 60.0
FUNHRUAEY T — a5t 18 16|  88.9 17 16| 94.1 1 0 0.0
F e 5L R 18 16| 88.9 17 16|  94.1 1 0 0.0
PEFIRE Ak PR 22 A 18 16/ 88.9 18 16| 88.9 0 0 0.0
f] L 25 Pk B P AR 52 46|  88.5 50 46| 92.0 2 0 0.0
YICH i f@ Ak B ¢ 26 23|  88.5 24 22| 91.7 2 1| 50.0
PR e RS IR AR i 17 15| 88.2 15 15| 100.0 2 0 0.0
TR = A R R P s 42 37| 88.1 37 35| 94.6 5 2| 40.0
7 AR R AR 25 22| 88.0 21 21| 100.0 4 1| 25.0
A AL 2 L R A 24 21| 875 23 21| 91.3 1 0 0.0
R AL B P A 24 21| 87.5 21 20/ 95.2 3 1| 333
i VNS 16 14| 875 15 14| 933 1 0 0.0
Loy i a3 P s 16 14| 87.5 16 14| 875 0 0 0.0
DL [T [ A L B P A 22 19| 86.4 19 18| 94.7 3 1| 333
BERFIL R AEEE M AR 35 30| 85.7 31 28/ 90.3 4 2| 50.0
Y R e e A U 28 24|  85.7 25 24| 96.0 3 0 0.0
FEIB R AL P AR 21 18| 85.7 21 18| 85.7 0 0 0.0
) LR P A 34 29|  85.3 31 29|  93.5 3 0 0.0
GUYGRE SIS ER PR PN S 27 23| 85.2 26 23|  88.5 1 0 0.0
R~ — R AN SRR AL P AL 20 17 85.0 18 17 94.4 2 0 0.0
INGIESE TN S 19 16| 84.2 17 15| 88.2 2 1| 50.0
HOXY MCA R AL P 2R 31 26| 83.9 26 25| 96.2 5 1| 20.0
PN e S R L s S 24 20| 83.3 22 20l 90.9 2 0 0.0
S ity R [ A AR AL & T T B 222 24 20|  83.3 20 19| 95.0 4 1| 25.0
DU ] R R R 18 15| 83.3 14 13| 92.9 4 2| 50.0
H e k2 R P AR 23 19| 82.6 18 18| 100.0 5 1| 20.0
DU ] 2 B8 K B P A 16 13| 813 13 13| 100.0 3 0 0.0
HERS AR AR P 0 21 17 81.0 19 17| 89.5 2 0 0.0
RS fE HE R T R AR 26 21|  80.8 24 20/ 83.3 2 1| 50.0
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TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
SRSy NE Y TR N 62 50 80.6 56 50| 89.3 6 0 0.0
£ i BAR LR SR 31 25| 80.6 30 25|  83.3 1 0 0.0
W] AR AL OR B S AL 31 25| 80.6 26 23| 88.5 5 2| 40.0
A ARG AL T 1 e kR PR AR 36 29|  80.6 32 29| 90.6 4 0 0.0
NP BE R SRR 36 29|  80.6 35 29|  82.9 1 0 0.0
TR R AR R R P AR 30 24 80.0 25 22| 88.0 5 2| 40.0
R =T A AL I o A A B P 2 5 49 39| 79.6 46 38|  82.6 3 1| 333
B 2ER T U AR 52 41| 78.8 43 41| 95.3 9 0 0.0
HUAR R K AR B B AR 46 36| 78.3 38 34|  89.5 8 2| 25.0
SEEYNE YT — R R 36 28] 778 31 28] 90.3 5 0 0.0
YR PN 18 14| 778 16 14| 875 2 0 0.0
<BHLEMR A UL R 26 20| 76.9 23 20/ 87.0 3 0 0.0
(YN PNV e 13 10| 76.9 13 10| 76.9 0 0 0.0
LS A P 25 25 31 S 2 17 13| 76.5 14 13| 92.9 3 0 0.0
BRI L R AT Lo 17 13|  76.5 14 11| 78.6 3 2| 66.7
e FE ] A b P A 33 25 75.8 27 25| 92.6 6 0 0.0
[EPARAIPNES5E i PNE 48 36| 75.0 38 35 92.1 10 1| 10.0
KRR B AR P AR 32 24| 75.0 27 24|  88.9 5 0 0.0
T BEIAE AL PR AR 15 11| 733 12 11| 917 3 0 0.0
FLAR H S R AR AL R AR 22 16| 72.7 18 15| 83.3 4 1| 25.0
R G5 B2 A Al B8 P 2 A o A2 46 331 717 36 32|  88.9 10 1l 10.0
VB IR 42 30 71.4 33 28|  84.8 9 2| 22.2
A RAE R R P 2 14 10| 714 9 9| 100.0 5 1| 20.0
A AfEHEEE P AR 55 39| 70.9 46 37 80.4 9 2| 22.2
JEE I I AR B P A% 10 7| 70.0 7 6| 85.7 3 1| 333
A AR AL R P AR 10 71 70.0 8 7| 875 2 0 0.0
il B A AL R P AR 62 43| 69.4 52 42| 80.8 10 1| 10.0
TV ERR AR AL R 26 18|  69.2 20 15| 75.0 6 3| 50.0
DA AUTRAEAEEE P S 13 9] 69.2 10 9  90.0 3 0 0.0
WA AL T =P A 16 11| 68.8 16 11| 68.8 0 0 0.0
JELJ 48 ik B P A 50 34|  68.0 44 31| 705 6 3] 50.0
TR B BT O R EE P 542 75 50|  66.7 57 47| 82.5 18 3| 16.7
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TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
VA U 7 o P A 45 30  66.7 34 29|  85.3 11 1 9.1
TR AR NHR A BT 22 18 12|  66.7 12 11 91.7 6 1| 16.7
e Lo S AR G R 2 45 29|  64.4 31 23| 74.2 14 6| 42.9
BERG/{— 2RI S O S A7) 28 18|  64.3 20 16|  80.0 8 2| 25.0
B A RS R Ty 14 9] 64.3 11 7| 63.6 3 2| 66.7
G o S YN 11 7| 63.6 7 7| 100.0 4 0 0.0
FIRT R - L B 2245 19 12| 63.2 13 10| 76.9 6 2| 33.3
N AR AL R P A 65 411 63.1 56 39|  69.6 9 2| 22.2
AT S R S R B P AR 35 22| 62.9 25 22| 88.0 10 0 0.0
NUEWPNEeE PN 64 40| 62.5 64 40| 62.5 0 0 0.0
22 5 15 R A o P A e R AR 32 20|  62.5 32 20|  62.5 0 0 0.0
IRRUAEY T — S a ARk e 26 16| 61.5 16 15|  93.8 10 1| 10.0
[ S EAE AR R P AR 18 11  61.1 13 11| 84.6 5 0 0.0
KR HERE AL 2 (I sl 23 14| 60.9 21 14| 66.7 2 0 0.0
H o R R R P AR 33 20[  60.6 30 20|  66.7 3 0 0.0
i FAR AR T P A S T B R S 35 21| 60.0 26 21| 80.8 9 0 0.0
IR R ABU AR AL P A% 25 15| 60.0 18 13| 72.2 7 2|  28.6
B PR m R B AL E R L 20 12| 60.0 18 11| 61.1 2 1| 50.0
HRJU R R 15 9| 60.0 9 9| 100.0 6 0 0.0
B VG F 2 @ AL B A 71 42| 59.2 59 38|  64.4 12 4] 33.3
R 22 13| 59.1 18 13| 72.2 4 0 0.0
TR AR AL I B 2 (3l L7 12 7| 58.3 9 6| 66.7 3 1| 33.3
PN TS s YRR o 86 50{ 58.1 55 44| 80.0 31 6| 19.4
ST 1 3 A A B AR 38 22| 57.9 29 21| 724 9 1| 11.1
A He PR R R AL B P A 28 16| 57.1 20 16|  80.0 8 0 0.0
RIS @AY 32 18| 56.3 30 18|  60.0 2 0 0.0
SOTRMERE PR ()t A1k 2 4R ) 59 33| 55.9 41 32| 78.0 18 1 5.6
R o L] S 5 A A R P A 11 6| 54.5 7 5| 71.4 4 1| 25.0
RN B R St AL B P A 39 21| 53.8 25 21| 84.0 14 0 0.0
R D5 [ A A B R P A P S 32 17| 53.1 17 12| 70.6 15 5| 33.3
REREARALR B H ML 48 25| 52.1 38 23| 60.5 10 2| 20.0
FOR LR BT AR 25 13| 52.0 15 12| 80.0 10 1| 10.0
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TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
YMCA i FEtEfk B P 5245 31 16| 51.6 18 14| 778 13 2| 15.4
T AR 52 26 50.0 30 25| 83.3 22 1 4.5
SRR RN AT A FBE LT 32 16| 50.0 25 16|  64.0 7 0 0.0
TAES T AR AL P A 19 9| 47.4 10 8|  80.0 9 1| 11.1
Ab IR BRAR kB P s 34 16| 47.1 23 14|  60.9 11 2| 18.2
& L R A AR P AR 26 12| 46.2 14 12| 85.7 12 0 0.0
RS YN AP (2 R 76 33| 434 62 32|  51.6 14 1 7.1
FHRERKF 26 11|  42.3 20 9| 45.0 6 2| 333
ZZAERRAEAL R P PR B IR 34 14|  41.2 29 13| 448 5 1| 20.0
S Aty R A 15 6| 40.0 7 3| 42.9 8 3| 375
AR v =7 AR AL R S 46 18] 39.1 31 18| 58.1 15 0 0.0
HETA R R P AR 28 10| 35.7 15 9|  60.0 13 1 7.7
KB E LK 31 11| 355 31 11| 355 0 0 0.0
PRMAETE R B A 18 6| 33.3 10 4| 40.0 8 2| 25.0
Tt SR LR AR 82 27| 32.9 55 24| 43.6 27 3| 11.1
TR L 2 A AL B P A 62 20/ 32.3 47 18| 38.3 15 2| 13.3
OUET VT B AR P 41 13| 31.7 40 13| 325 1 0 0.0
= BT EE AL e e 68 211 30.9 52 21| 40.4 16 0 0.0
BRI EFR IR E O R A A 34 10| 29.4 29 10| 34,5 5 0 0.0
FARY MCA E B AR P A 17 5| 29.4 10 5| 50.0 7 0 0.0
HE AL IR R B P L 31 9] 29.0 22 71 31.8 9 2| 22.2
75 A AR 83 23| 27.7 52 19  36.5 31 4 129
ZZAEREAE AL R P 48 13 27.1 36 13| 36.1 12 0 0.0
T T BRRARAC AT A B 15 4| 26.7 15 4] 26.7 0 0 0.0
PR il - R AL R B 19 5| 26.3 8 5| 625 11 0 0.0
JONITTNES 58 P NE S 68 17| 25.0 44 17| 38.6 24 0 0.0
PR IRRALIL Y (e ISR 56 14| 25.0 52 13| 25.0 4 1| 25.0
RIS G AL P AR 59 14| 23.7 53 13| 245 6 1| 16.7
TN IR AR — > B A% 108 25| 23.1 25 18|  72.0 83 7 8.4
AT (AT — [ FRE AL A 62 14| 22.6 30 9]  30.0 32 5/ 15.6
IR AR B P L 40 9] 22,5 16 9 56.3 24 0 0.0
KA 2 =T 40— T — B 2R 55 12| 21.8 40 10 25.0 15 2| 13.3
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TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak

B2 E B AL L > Y 42 9| 21.4 29 9 31.0 13 0 0.0
B AR AL P A 47 10 21.3 14 71 50.0 33 3 9.1
=% e 10 2| 20.0 2 2| 100.0 8 0 0.0
AOIE BEE AL R 7L 67 11| 16.4 56 9| 16.1 11 2| 18.2
IS 49 8| 16.3 20 4] 20.0 29 4] 13.8
T TR 43 7| 16.3 29 5[ 17.2 14 2| 14.3
VU H e fk B P AR 66 10| 15.2 32 8| 25.0 34 2 5.9
TR P R A R R P AR 41 5| 12.2 34 4 11.8 7 1| 14.3
S EFARB AR 7R 30 3| 10.0 27 3] 11.1 3 0 0.0
VEN AL AL E = VYN T 11 1 9.1 2 0 0.0 9 1| 11.1
AARZEBEALR 7R 32 2 6.3 29 2 6.9 3 0 0.0
B EERERY =V T — DR — 27 1 3.7 0 0 0.0 27 1 3.7

(221~232%)
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TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
IR B A AR B PR TR 9 9| 100.0 9 9| 100.0 0 0 0.0
FRE) IR ST AR BT AL R 5 9 9| 100.0 9 9| 100.0 0 0 0.0
I S ENES) 3 RN i 9 9| 100.0 9 9| 100.0 0 0 0.0
3 L R 9 9| 100.0 9 9| 100.0 0 0 0.0
AAfE SR 9 9| 100.0 9 9| 100.0 0 0 0.0
JEE IR B B 8 8| 100.0 8 8| 100.0 0 0 0.0
BN R 8 8| 100.0 8 8| 100.0 0 0 0.0
B MAR— PR SRR AL B AR 7 7| 100.0 7 7| 100.0 0 0 0.0
a7 Loy 7 7| 100.0 7 7| 100.0 0 0 0.0
FlRF i 0K 7 7| 100.0 7 7| 100.0 0 0 0.0
FEILMN K 7 7| 100.0 7 7| 100.0 0 0 0.0
i LRl R 7 7| 100.0 7 7| 100.0 0 0 0.0
FEAERFEIR T 7 7| 100.0 7 7| 100.0 0 0 0.0
YMCAKF AL AL 7 7| 100.0 7 7| 100.0 0 0 0.0
KIFAR = AR RBALRE 24K 6 6| 100.0 6 6| 100.0 0 0 0.0
BT R AR R 6 6| 100.0 6 6| 100.0 0 0 0.0
R B REAEE Y 6 6| 100.0 6 6| 100.0 0 0 0.0
FEHE LRI RS 6 6| 100.0 6 6| 100.0 0 0 0.0
WHL)F KT 6 6| 100.0 6 6| 100.0 0 0 0.0
[E{ R R A i 6 6| 100.0 6 6| 100.0 0 0 0.0
OSJELIoinr T A7 — L 5 5| 100.0 5 5 100.0 0 0 0.0
KT 5 5| 100.0 5 5/ 100.0 0 0 0.0
U A AR R P s 5 5| 100.0 5 5/ 100.0 0 0 0.0
TEE (L7 B PR B AR AL P 5 5| 100.0 5 5| 100.0 0 0 0.0
JEFHR 5 5| 100.0 5 5/ 100.0 0 0 0.0
AbE R R 5 5| 100.0 5 5/ 100.0 0 0 0.0
1% U7 SRR AL P AR 4 4| 100.0 4 4| 100.0 0 0 0.0
UM ERERL R 4 4| 100.0 4 4| 100.0 0 0 0.0
EMESISE NG 4 4| 100.0 4 4| 100.0 0 0 0.0
AL AL R B P AR 4 4| 100.0 4 4| 100.0 0 0 0.0
BN EK T 4 4| 100.0 4 4| 100.0 0 0 0.0
LAY NE K 4 4| 100.0 4 4| 100.0 0 0 0.0

(1~32%)




A, ___ " "

TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
AR PR R 3 3| 100.0 3 3| 100.0 0 0 0.0
JUN B AR T 2 2| 100.0 2 2| 100.0 0 0 0.0
H 7 F F KT 2 2| 100.0 2 2| 100.0 0 0 0.0
e SN S 2 2| 100.0 2 2| 100.0 0 0 0.0
BTS2 R PRI R 550 1 1| 100.0 0 0 0.0 1 1| 100.0
HRAE BE R & T P SRR IS (o — S e LT —F1— ) 1 1l 100.0 0 0 0.0 1 11 100.0
E PR ER AL R P R L R 1 1| 100.0 0 0 0.0 1 1| 100.0
LRk 22 e P A 1 1| 100.0 0 0 0.0 1 1| 100.0
IRAE IR AR R 1 1| 100.0 0 0 0.0 1 1| 100.0
R SRR P AR 1 1| 100.0 0 0 0.0 1 1| 100.0
B RN B R 1 1| 100.0 0 0 0.0 1 1| 100.0
O E BR A AR R P AR 1 1| 100.0 0 0 0.0 1 1| 100.0
IR ik B P 2 1 1| 100.0 0 0 0.0 1 1| 100.0
A [ B A P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
RYRALVE =T s 9 8| 88.9 8 8| 100.0 1 0 0.0
A5 N 7 B P AR 8 7| 87.5 7 7| 100.0 1 0 0.0
BB L2z - K5 8 7| 87.5 7 7| 100.0 1 0 0.0
R PR AR E AR AL - PR B R (a7 ) 8 7 87.5 6 6 100.0 2 1 50.0
AR O 2R 7 6| 85.7 6 6| 100.0 1 0 0.0
KRB RGN A (HLHR 5 Jr AR 7 6| 85.7 7 6| 85.7 0 0 0.0
RS AL LR AR 7 6| 85.7 7 6| 85.7 0 0 0.0
FHE IR 6 5/ 83.3 6 5/ 83.3 0 0 0.0
NI e A i 6 5/ 83.3 6 5/ 83.3 0 0 0.0
[E BRI PR Al R 6 5/ 83.3 5 5/ 100.0 1 0 0.0
RBEOUERALF T 5 4| 80.0 4 4| 100.0 1 0 0.0
B R[5 A PR P AR 5 4| 80.0 5 4| 80.0 0 0 0.0
KIRPRB R 9 71 778 7 6| 85.7 2 1| 50.0
VR R T 8 6| 75.0 8 6| 75.0 0 0 0.0
EBE R E PR 8 6| 75.0 6 5| 83.3 2 1| 50.0
AEEIE AL 2BCE P R 8 6| 75.0 7 6| 85.7 1 0 0.0
1B AR I R P A 4 3| 75.0 3 3| 100.0 1 0 0.0
IR AL ERE L 7 5| 71.4 5 5| 100.0 2 0 0.0

(33~641%)




e ___ " "

TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
FOUR R EAR AL & I TR AR 9 6| 66.7 9 6| 66.7 0 0 0.0
AARITE Y RAHL v 6 4| 66.7 4 3| 75.0 2 1| 50.0
g IPNET TR N 3 2| 66.7 0 0 0.0 3 2| 66.7
7R BRI R 3 2| 66.7 2 2| 100.0 1 0 0.0
FAET AR — Y R F #E PR 3 2| 66.7 3 2| 66.7 0 0 0.0
(G RER NS TR P NE 2 7 4| 57.1 4 3] 75.0 3 1| 33.3
OB AER T 9 5| 55.6 9 5/ 55.6 0 0 0.0
P R E AL 2 1| 50.0 2 1| 50.0 0 0 0.0
S = 2 1| 50.0 1 1| 100.0 1 0 0.0
DN R ENZ x| AL 5 2| 40.0 0 0 0.0 5 2| 40.0
B EAL R 6 2| 33.3 2 2| 100.0 4 0 0.0
TES AR AL R AR 3 1| 333 0 0 0.0 3 1| 333
WA ARERRR: 3 1| 333 2 1| 50.0 1 0 0.0
£ H R TR P A% 5 1| 20.0 0 0 0.0 5 1| 20.0
B A E R AL R L v 5 1l 20.0 0 0 0.0 5 1l 20.0
R 5 0 0.0 5 0 0.0 0 0 0.0
B VE R B @ AL R AR 4 0 0.0 0 0 0.0 4 0 0.0
TUM R FE IR T (f k) 4 0 0.0 0 0 0.0 4 0 0.0
IS H TR R P AR 4 0 0.0 0 0 0.0 4 0 0.0
EAGES IR AN E SN = 3 0 0.0 0 0 0.0 3 0 0.0
FEIS /= AR AR AL R P A (T AR R 2 0 0.0 0 0 0.0 2 0 0.0
LI A o B PR AR 2 0 0.0 0 0 0.0 2 0 0.0
H: FH A8 kB P 22 2 0 0.0 0 0 0.0 2 0 0.0
HURUR AL R A (st RE34E ) 2 0 0.0 0 0 0.0 2 0 0.0
KB HERE AL K 2% () et B ) 1 0 0.0 0 0 0.0 1 0 0.0
PNIE R e e SN 1 0 0.0 0 0 0.0 1 0 0.0
JE I 5 S5 R AL B P AR 1 0 0.0 0 0 0.0 1 0 0.0
V= LT — 7 B AR 1 0 0.0 0 0 0.0 1 0 0.0
FE R G E R AR 1 0 0.0 0 0 0.0 1 0 0.0
Bt AL & BR B AR kD B AR 1 0 0.0 0 0 0.0 1 0 0.0
HORUD B B AR AL R P AR 1 0 0.0 0 0 0.0 1 0 0.0
B I EFRAE AL P AR 1 0 0.0 0 0 0.0 1 0 0.0

(65~96#%)




e SRS SN O ——
STRE| OHER| AR | ZREK| Ak E K| AR |ZREK| akER| AR
T gk R R P AR 1 0 0.0 0 0 0.0 1 0 0.0
et o] 2 9 S R 1 0 0.0 0 0 0.0 1 0 0.0
~H =T E R AL R AL 1 0 0.0 0 0 0.0 1 0 0.0
D) —Z & & AR — Y B 22 1 0 0.0 0 0 0.0 1 0 0.0
(97~100%%)

(&)
3t 6,955| 4,638| 66.7] 5,664| 4,449 78.5| 1,291| 189| 14.6

(3321%)



o5 3 7 [ REE pik b E A BR R BRI SR (BRERIE)
@EFMB N — (BEAELROZRE)

TR IXAAEE (BREFEAA LA S AMTAESASIA £T) AR WET) Lefd I dET) )

T RIALOHE,  TEEZE] IZRHEE (BM64E3H31H) £ TICEEWET) LETH D,
(G2 2 RN T2 B | 120, R ESBREDNONEEL G T HEE ST,

5

(ZBRAEL10ALLE]

e ___ T "

TRER| ORER| AR | ZREK| B AR |ZRER| AREKR| Ak
f] L 5 Ak B P AR 42 42| 100.0 42 42| 100.0 0 0 0.0
HBEREEDL v (N HEELR) 40 40[ 100.0 40 40| 100.0 0 0 0.0
IR 29 29[ 100.0 29 29 100.0 0 0 0.0
WK 29 29[ 100.0 29 29 100.0 0 0 0.0
I RGs - BH OR 28 28 100.0 28 28| 100.0 0 0 0.0
T VT 7 EIFRAE AL AR 26 26/ 100.0 26 26| 100.0 0 0 0.0
AR LR 26 26 100.0 26 26| 100.0 0 0 0.0
SCRUFBER 25 25 100.0 25 25| 100.0 0 0 0.0
£ AL R 7 23 23| 100.0 23 23| 100.0 0 0 0.0
KRG AR A AL P A T2 23 23| 100.0 22 22| 100.0 1 1| 100.0
FAAPT HR A 21 21 100.0 20 20( 100.0 1 1| 100.0
HALSCEOR RN R 20 20 100.0 20 20 100.0 0 0 0.0
¥ I [E] B bk B P AR 20 20( 100.0 20 20( 100.0 0 0 0.0
0 I IR NT R 19 19| 100.0 19 19| 100.0 0 0 0.0
{E NI AR MR R P AR 19 19| 100.0 19 19| 100.0 0 0 0.0
o] o 9E R RPN = 19 19| 100.0 19 19| 100.0 0 0 0.0
ALHRE ST 3 R LA 19 19| 100.0 19 19| 100.0 0 0 0.0
P L E B AR A R 18 18| 100.0 18 18| 100.0 0 0 0.0
KA R 17 17| 100.0 17 17| 100.0 0 0 0.0
B arPNE S 17 17| 100.0 17 17| 100.0 0 0 0.0
R B AR AR AR 17 17| 100.0 17 17| 100.0 0 0 0.0
IR SR LR T BT AR 17 17| 100.0 17 17| 100.0 0 0 0.0
AV A R L e 16 16/ 100.0 16 16| 100.0 0 0 0.0
iR S NE S 16 16| 100.0 16 16| 100.0 0 0 0.0
RS A AR 7 AR —) 16 16| 100.0 16 16| 100.0 0 0 0.0
LR 9l T A AL B P A 16 16| 100.0 16 16| 100.0 0 0 0.0
o] Uk SR S R 16 16/ 100.0 16 16| 100.0 0 0 0.0
IR AL Y BT R P A 16 16| 100.0 16 16| 100.0 0 0 0.0

(1~281%)



A, ___ " "

TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
Bk ERE ALK 16 16/ 100.0 15 15| 100.0 1 1| 100.0
di I R AR AL R A 15 15| 100.0 15 15| 100.0 0 0 0.0
R M AL E R AL - PR B KA (RES @A E R 15 15 100.0 15 15 100.0 0 0 0.0
A AfEHEEE P AR 15 15| 100.0 15 15| 100.0 0 0 0.0
ERN T NES 15 15| 100.0 15 15| 100.0 0 0 0.0
TV ERR AR AL R 14 14| 100.0 14 14| 100.0 0 0 0.0
N RES SR PN 14 14| 100.0 13 13| 100.0 1 1| 100.0
Loy i a3 P s 14 14| 100.0 14 14| 100.0 0 0 0.0
il K5 14 14| 100.0 14 14| 100.0 0 0 0.0
H AR ik e — 2 N )L HE P A 14 14| 100.0 14 14| 100.0 0 0 0.0
BB H R 14 14| 100.0 14 14| 100.0 0 0 0.0
W R R 14 14| 100.0 14 14| 100.0 0 0 0.0
IGL R @ AL P A 13 13| 100.0 13 13| 100.0 0 0 0.0
IRU AV T — S a @k e 13 13| 100.0 13 13| 100.0 0 0 0.0
R ERE 13 13| 100.0 13 13| 100.0 0 0 0.0
BRI VAN T 7— R 13 13| 100.0 13 13| 100.0 0 0 0.0
S N 13 13| 100.0 13 13| 100.0 0 0 0.0
HEBARY 13 13| 100.0 13 13| 100.0 0 0 0.0
7 N R FLIR 12 12| 100.0 12 12| 100.0 0 0 0.0
PR F LS RAE S P AR 12 12| 100.0 11 11| 100.0 1 1| 100.0
B AN 7 — K AL P 2 12 12| 100.0 12 12| 100.0 0 0 0.0
DSV e N = 12 12| 100.0 12 12| 100.0 0 0 0.0
[E R 12 12| 100.0 12 12| 100.0 0 0 0.0
SRSy SR NES 12 12| 100.0 12 12| 100.0 0 0 0.0
Al B E R R 12 12| 100.0 12 12| 100.0 0 0 0.0
A ARk B R 12 12| 100.0 12 12| 100.0 0 0 0.0
BRI R 12 12| 100.0 12 12| 100.0 0 0 0.0
ML I £ K kAR — > B A 2 11 11| 100.0 11 11| 100.0 0 0 0.0
R = e A fik & TTHEF 224 11 11| 100.0 11 11| 100.0 0 0 0.0
R 5 ] Bk B P AR 11 11| 100.0 11 11| 100.0 0 0 0.0
i AL R Y 2 (R B a7 11 11| 100.0 11 11| 100.0 0 0 0.0
[P ANE 52 - NE 11 11| 100.0 11 11| 100.0 0 0 0.0

(29~60#%)




e ___ " "

TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
RIREJFEAE AL R AR 10 10| 100.0 10 10| 100.0 0 0 0.0
B PR P AR 10 10| 100.0 9 9| 100.0 1 1| 100.0
LAHADBAFIR 10 10/ 100.0 10 10| 100.0 0 0 0.0
S Sk L T E 10 10| 100.0 10 10| 100.0 0 0 0.0
B P NES 10 10| 100.0 10 10| 100.0 0 0 0.0
HULYMCA EF AR R 225 10 10| 100.0 10 10| 100.0 0 0 0.0
R ZE S « BRI - S B P 10 10| 100.0 10 10| 100.0 0 0 0.0
CINTITES 3 R NES 8 N | 10 10| 100.0 10 10| 100.0 0 0 0.0
INSSE P NES 10 10/ 100.0 10 10| 100.0 0 0 0.0
UNEDE A L b P A 30 29|  96.7 30 29| 96.7 0 0 0.0
B PSP A 2 2 27 26/  96.3 26 26| 100.0 1 0 0.0
T AR 25 24 96.0 24 24| 100.0 1 0 0.0
TR AR R R P 23 22| 95.7 22 22| 100.0 1 0 0.0
FH (5] AT 7 R 23 22| 95.7 20 20[ 100.0 3 2| 66.7
At ] [ 0 B AR A B P AR 22 21| 95.5 22 21| 95.5 0 0 0.0
LA ALY 21 20/ 95.2 21 20/ 95.2 0 0 0.0
ORI 8 3 A s B A A 7 TP e 1 e 21 20| 95.2 21 20| 95.2 0 0 0.0
TN 21 20[  95.2 21 20]  95.2 0 0 0.0
YICH i fa Ak B 21 20 95.2 19 19| 100.0 2 1| 50.0
R Pt Ak o P A% 41 39 95.1 40 39| 97.5 1 0 0.0
AT S R S R B P AR 20 19]  95.0 19 19| 100.0 1 0 0.0
I va [E B OR 20 19  95.0 19 19| 100.0 1 0 0.0
FOSR BT R 19 18| 94.7 19 18] 94.7 0 0 0.0
TR B BT O R EE P 54 37 35|  94.6 33 33| 100.0 4 2| 50.0
il B A AL B P AR 37 35 94.6 36 35| 97.2 1 0 0.0
RELARF 18 17| 94.4 18 17| 94.4 0 0 0.0
H ok 2 R R P AR 18 17 94.4 17 17| 100.0 1 0 0.0
JUNF I AT — a2 17 16|  94.1 17 16|  94.1 0 0 0.0
JUM RS IR (RS R AL ) 16 15|  93.8 16 15|  93.8 0 0 0.0
P e Ry IR A i 16 15  93.8 15 15| 100.0 1 0 0.0
TR = A AR R P s 31 29|  93.5 30 29| 96.7 1 0 0.0
EE AR A% 31 29|  93.5 31 29|  93.5 0 0 0.0

(61~924%)




A, ___ " "

TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
KIR A HEAR ML AT IR (3l A7) 15 14| 93.3 15 14| 93.3 0 0 0.0
SEEYNE YT — R R 15 14| 93.3 15 14| 93.3 0 0 0.0
R =T AL HH R AL P 2 28 26 92.9 28 26| 92.9 0 0 0.0
DU ] 2 B8 K B P A 14 13 92.9 13 13| 100.0 1 0 0.0
H g R R R P AR 14 13 929 14 131 92.9 0 0 0.0
At He VR [ A AL B P A 14 13 92.9 13 13| 100.0 1 0 0.0
NP BE R SR 27 25| 92.6 26 25| 96.2 1 0 0.0
RJER B S AR AL B P 22K e 26 24| 92.3 23 23| 100.0 3 1| 333
JE I 5 PR AR AL B P AR 13 12| 923 13 12| 923 0 0 0.0
ek R AR AL R AR 13 12| 92.3 13 12| 92.3 0 0 0.0
AR I8 S NE Y TR/ N i 24 22| 91.7 24 22| 91.7 0 0 0.0
WA AL T =P A 12 1| 91.7 12 11| 91.7 0 0 0.0
R E AL P DD I 12 11| 91.7 12 11 91.7 0 0 0.0
OO ZHPE R ALK FE 12 11| 91.7 11 11| 100.0 1 0 0.0
R [ 00 i AL B S g 35 32 91.4 33 32| 97.0 2 0 0.0
il ERE R E R AL & ITH P 74% 23 21| 91.3 23 21| 91.3 0 0 0.0
KIF AT e bk P A VR AR 11 10| 90.9 11 10/ 90.9 0 0 0.0
DU ] R R 11 10 90.9 10 10| 100.0 1 0 0.0
B IR SN FNEY TR P NE 11 10| 90.9 10 10| 100.0 1 0 0.0
PR P A A & A R P 2 A R () s L) 21 19 90.5 20 18 90.0 1 1{ 100.0
INUINEEE Y NES 21 19/ 90.5 18 18| 100.0 3 1| 333
TR ISR AL AR 21 19|  90.5 19 18| 94.7 2 1| 50.0
AR v = AR ALK S 20 18] 90.0 20 18] 90.0 0 0 0.0
4 iy R PR B AR AL & T T R 22458 20 18| 90.0 19 18| 94.7 1 0 0.0
T 7 7 X — B A 10 9 90.0 8 8| 100.0 2 1| 50.0
AL PR 2= 8 =5 PH A5 10 9] 90.0 9 9| 100.0 1 0 0.0
RHER 7L FREnkE M AL 29 26|  89.7 27 25| 92.6 2 1| 50.0
Bt ot BE L AR AL B A% 29 26| 89.7 26 23|  88.5 3 3| 100.0
R~ — R AN SRR AL P AL 19 17 89.5 18 17 94.4 1 0 0.0
IR AR AR AR 19 17| 89.5 18 17 94.4 1 0 0.0
AR L Fe A 2 1 PR A 27 24|  88.9 25 24| 96.0 2 0 0.0
B 1Ak B P AR 18 16| 88.9 18 16| 88.9 0 0 0.0

(93~124#%)




e ___ " "

TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
FEtha SUH PR 18 16/ 88.9 17 16|  94.1 1 0 0.0
PEESY MCAE BRE AL P L 18 16| 88.9 15 15| 100.0 3 1| 333
Pl 5 e fE R P AR 18 16/ 88.9 17 16|  94.1 1 0 0.0
BRIt AL P AR 18 16| 88.9 18 16| 88.9 0 0 0.0
K 2 [ f k2B B P AR 26 23|  88.5 24 23| 95.8 2 0 0.0
BERG/{— 2RSEAEAE PR S O SRR 17 15| 88.2 17 15|  88.2 0 0 0.0
7 AR R P AR 24 21| 875 20 20( 100.0 4 1| 25.0
R AL B P A 24 21| 87.5 21 20/ 95.2 3 1| 333
i VNS 16 14| 875 15 14| 933 1 0 0.0
79 A AR 16 14| 87.5 15 13|  86.7 1 1| 100.0
R =T A AL I oy P AR A B P 2 £ 30 26|  86.7 28 25| 89.3 2 1| 50.0
EIRE D R ABUCEALRE T AR 15 13| 86.7 15 13| 86.7 0 0 0.0
YR PN 15 13|  86.7 14 131 92.9 1 0 0.0
REERALR T MR 22 19| 86.4 19 19| 100.0 3 0 0.0
DL [T = A L B P A 22 19| 86.4 19 18|  94.7 3 1| 333
SPE T S 3 A Ak B P AR 22 19| 86.4 18 18| 100.0 4 1| 25.0
HUAR R K PR B B AR 35 30 85.7 32 29| 90.6 3 1| 333
FEIB AL P AR 21 18| 85.7 21 18| 85.7 0 0 0.0
KBt tE bR AR 14 12|  85.7 10 9  90.0 4 3| 75.0
IR EH B 24 14 12|  85.7 12 10/ 83.3 2 2| 100.0
NI NS 14 12|  85.7 14 12| 85.7 0 0 0.0
TR L 2 A AL B P A 14 12|  85.7 14 12| 85.7 0 0 0.0
FLRR H SR AR A R P A 14 12|  85.7 11 11| 100.0 3 1| 333
FE AR B A Ak B A% 13 11| 84.6 12 11 91.7 1 0 0.0
DN AL E R A 44 37| 84.1 41 36| 87.8 3 1| 333
PN e S R L s S 24 20| 83.3 22 20l 90.9 2 0 0.0
T VA U 7 o P A 24 20/  83.3 20 191  95.0 4 1| 25.0
Bl Y aneas IR AR i 18 15| 83.3 14 13| 92.9 4 2| 50.0
BAVE th Ak B AR 29 24| 82.8 28 24| 85.7 1 0 0.0
H] H AL OR B MR 29 24| 82.8 24 22 91.7 5 2| 40.0
A ASE AL 1 e kB PR 2R 34 28|  82.4 31 28| 90.3 3 0 0.0
GV SRE SIS ER PR i PNE S 17 14| 82.4 16 14| 87,5 1 0 0.0

(125~1564%)




e ___ " "

TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
RS YN AP (2 R 11 9| 81.8 10 9]  90.0 1 0 0.0
HURUR AL R A (st R 24 ) 27 22|  81.5 24 22| 91.7 3 0 0.0
HERS AR AR P 0 21 17| 81.0 19 17| 89.5 2 0 0.0
£ i BAR AL R SR 31 25| 80.6 30 25| 83.3 1 0 0.0
SR R SR L R P AR 30 24 80.0 25 22| 88.0 5 2| 40.0
i FAR LR T P A S B R 20 16| 80.0 19 16| 84.2 1 0 0.0
B [ N SY L [ ) R 20 16/  80.0 19 16| 84.2 1 0 0.0
<BHLER A AL R 26 20| 76.9 23 20/ 87.0 3 0 0.0
VN NETR P NE | 13 10| 76.9 13 10| 76.9 0 0 0.0
B SV e s S eI TEEAY i 13 10 76.9 12 10 83.3 1 0 0.0
YMCA i FEtEfk 5 P 5245 16 12| 75.0 13 12| 923 3 0 0.0
PAAUTRARAE R P AR 12 9| 175.0 10 9  90.0 2 0 0.0
RN R R IRt AL B P A 19 14| 73.7 15 14| 933 4 0 0.0
B PR m R B AL E R L 15 11| 733 14 11| 78.6 1 0 0.0
HE AL IR R B P L 10 71 70.0 9 71 77.8 1 0 0.0
ZIAEREAL T FAL 15 10|  66.7 12 10| 83.3 3 0 0.0
BT E B AL LY 11 6| 54.5 10 6| 60.0 1 0 0.0
NP NES 58 P NE S 13 7| 53.8 10 71 70.0 3 0 0.0

(157~174%)




(ZBRE 10 AKi)

A, ___ " "

TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
UL VTR A B P S 78 3 s /S 2 9 9| 100.0 9 9| 100.0 0 0 0.0
KRIFFEFTE Y R A BEIR AL M 25 LR 9 9] 100.0 9 9] 100.0 0 0 0.0
Y s 2 R 7 9 9| 100.0 9 9| 100.0 0 0 0.0
FRE) IR ST AR BEAR ALK 5 9 9| 100.0 9 9| 100.0 0 0 0.0
I SN RN i 9 9| 100.0 9 9| 100.0 0 0 0.0
ZIAEREAL T P B IR 9 9| 100.0 8 8| 100.0 1 1| 100.0
3R L R 9 9| 100.0 9 9| 100.0 0 0 0.0
HUNEI#EZ LB UL 2 9 9| 100.0 9 9| 100.0 0 0 0.0
[ BB MR R P AR 9 9| 100.0 9 9| 100.0 0 0 0.0
EENGEE S YN 9 9| 100.0 9 9| 100.0 0 0 0.0
FOak 1LY MC A ] B3 ik 224 9 9| 100.0 9 9| 100.0 0 0 0.0
RINE R P AL 8 8| 100.0 8 8| 100.0 0 0 0.0
JEE I S [EIBR R 8 8| 100.0 8 8| 100.0 0 0 0.0
B LA R 8 8| 100.0 8 8| 100.0 0 0 0.0
{E M AR — E AR AL R AR 7 7| 100.0 7 7| 100.0 0 0 0.0
BrEaT LY 7 7| 100.0 7 7| 100.0 0 0 0.0
BT YNES 7 7| 100.0 7 7| 100.0 0 0 0.0
(PRI PNES 7 7| 100.0 7 7| 100.0 0 0 0.0
IR NES 7 7| 100.0 7 7| 100.0 0 0 0.0
EERFEHIR 7 7| 100.0 7 7| 100.0 0 0 0.0
YMCAKT- R AL R AL 7 7| 100.0 7 7| 100.0 0 0 0.0
72 5 15 R Ak B P A T R AR 6 6| 100.0 6 6| 100.0 0 0 0.0
KIFAR = AR RALRE 24K 6 6| 100.0 6 6| 100.0 0 0 0.0
A5 [N 7 B P AR 6 6| 100.0 6 6| 100.0 0 0 0.0
HETH AR AL R P AR 6 6| 100.0 6 6| 100.0 0 0 0.0
BV R AR R 6 6| 100.0 6 6| 100.0 0 0 0.0
FLIR & B it fak o =5 PR 2 6 6| 100.0 6 6| 100.0 0 0 0.0
RO A kR P AR 6 6| 100.0 6 6| 100.0 0 0 0.0
[ E e SR Ne 6 6| 100.0 6 6| 100.0 0 0 0.0
2 K% 6 6| 100.0 6 6| 100.0 0 0 0.0
PG L R AT L o 6 6| 100.0 6 6| 100.0 0 0 0.0
R PR AR E R AL - PR B R (e AL R 6 6 100.0 6 6 100.0 0 0 0.0

(1~32%)




e ___ " "

TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
W PR AR A R R P AR 6 6| 100.0 6 6| 100.0 0 0 0.0
OSJELIpinr T A7 — )L 5 5/ 100.0 5 5 100.0 0 0 0.0
[ BRI HEE R Ak R AL 5 5/ 100.0 5 5| 100.0 0 0 0.0
IR B AL (AR AL R SR 5 5/ 100.0 5 5 100.0 0 0 0.0
EUYRYNES 5 5 100.0 5 5 100.0 0 0 0.0
TEE (L7 B PR B AR AL P 5 5| 100.0 5 5| 100.0 0 0 0.0
JEFHR 5 5| 100.0 5 5/ 100.0 0 0 0.0
Al R R 5 5| 100.0 5 5/ 100.0 0 0 0.0
B E AL ERE L Y 5 5/ 100.0 5 5| 100.0 0 0 0.0
1% U7 PR AL B 4 4| 100.0 4 4| 100.0 0 0 0.0
R 25 A A Al R 87 P A A A FE A 4 4| 100.0 4 4{ 100.0 0 0 0.0
UM ERERF R 4 4| 100.0 4 4| 100.0 0 0 0.0
EMESISE NG 4 4| 100.0 4 4| 100.0 0 0 0.0
LI PR AR AR R P AR 4 4| 100.0 4 4| 100.0 0 0 0.0
AL b 2B =P AR 4 4| 100.0 4 4| 100.0 0 0 0.0
AbEIE AL 2BCE P R 4 4| 100.0 4 4| 100.0 0 0 0.0
BN ER T 4 4| 100.0 4 4| 100.0 0 0 0.0
LA N K 4 4| 100.0 4 4| 100.0 0 0 0.0
S [ R A R R P AR 4 4| 100.0 3 3| 100.0 1 1| 100.0
AR A R 3 3| 100.0 3 3| 100.0 0 0 0.0
R G5 B2 A Al B8 P 2 A o A2 3 3| 100.0 3 3| 100.0 0 0 0.0
FUIN EFR AR — B 224 3 3| 100.0 3 3| 100.0 0 0 0.0
S EFARB AL R 7R 3 3| 100.0 3 3| 100.0 0 0 0.0
B2 T U AR 3 3| 100.0 3 3| 100.0 0 0 0.0
B S NR Ty 3 3| 100.0 2 2| 100.0 1 1| 100.0
I e ] S 5 P A R P A 3 3| 100.0 3 3| 100.0 0 0 0.0
[ESERPIG =t S8 Aoyt a2 3 3| 100.0 3 3| 100.0 0 0 0.0
JUN B AR T 2 2| 100.0 2 2| 100.0 0 0 0.0
H - FE F KT 2 2| 100.0 2 2| 100.0 0 0 0.0
AT (AT — [ FRE AL A 2 2| 100.0 2 2| 100.0 0 0 0.0
BHE A A 2 2| 100.0 2 2| 100.0 0 0 0.0
P S NG 2 2| 100.0 2 2| 100.0 0 0 0.0

(33~641%)




A, ___ " "

TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
HOAE LR B B A 2 2| 100.0 2 2| 100.0 0 0 0.0
7R BRI R 2 2| 100.0 2 2| 100.0 0 0 0.0
B EAL TR 2 2| 100.0 2 2| 100.0 0 0 0.0
VU B A fk R PE A 2 2| 100.0 2 2| 100.0 0 0 0.0
BTS2 R PRI R 550 1 1| 100.0 0 0 0.0 1 1| 100.0
HRAE BE R & T P SRR IS (o — S e LT —F1— ) 1 1l 100.0 0 0 0.0 1 11 100.0
AR R R 1 1| 100.0 0 0 0.0 1 1| 100.0
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HILN LR 7 9 8| 88.9 8 8| 100.0 1 0 0.0
Rl EFR R 9 8| 88.9 9 8| 88.9 0 0 0.0
PR EIRASR R 8 7| 87.5 7 7| 100.0 1 0 0.0
BB L2z - K5 8 7| 87.5 7 7| 100.0 1 0 0.0
A AR AL R P AR 8 7| 875 8 7| 875 0 0 0.0
AR O 2R 7 6| 85.7 6 6| 100.0 1 0 0.0
VR BEREE AL A (HLHR 5 Jr AR5 7 6| 85.7 7 6| 85.7 0 0 0.0
JEE I I AR B P A% 7 6| 85.7 7 6| 85.7 0 0 0.0
RS A nE P A 7 6| 85.7 7 6| 85.7 0 0 0.0
EBE R E PR 7 6| 85.7 6 5| 83.3 1 1| 100.0
T B AL R AR 7 6| 85.7 6 6| 100.0 1 0 0.0
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TUM R FE IR T (f k) 1 0 0.0 0 0 0.0 1 0 0.0
V=X VT — 7 B S 1 0 0.0 0 0 0.0 1 0 0.0
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HRCHEALEE o (A AR 34 ) 1 0 0.0 0 0 0.0 1 0 0.0
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ZIAEFEALRE P FAL 33 3 9.1 24 3| 125 9 0 0.0
VEY VL AL YN 11 1 9.1 2 0 0.0 9 1 11.1
i AL H R 27 2 7.4 6 1| 16.7 21 1 4.8
R AL R S P 31 2 6.5 8 2| 25.0 23 0 0.0
AARZE AL R A 32 2 6.3 29 2 6.9 3 0 0.0
BB ERERY 2 VT — D AT — L 27 1 3.7 0 0 0.0 27 1 3.7
AR SRR AL R P AR 37 1 2.7 31 1 3.2 6 0 0.0
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HEL B R 2 2| 100.0 2 2| 100.0 0 0 0.0
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FEESY MC A E B AL P 7L 1 1| 100.0 1 1| 100.0 0 0 0.0
AT 2 @ = P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
FLIGR S 2 it Al ol B = AR 9 8| 88.9 9 8| 88.9 0 0 0.0
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YICH # At kB A% 5 3| 60.0 5 3| 60.0 0 0 0.0
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TR H SR AR AL R P AR 8 4] 50.0 7 4] 57.1 1 0 0.0
S iy R PR AR A & T TR P 524K 4 2| 50.0 1 1| 100.0 3 1| 333
A E RS HEECE B AR 4 2| 50.0 3 2| 66.7 1 0 0.0
AR TR R 2 1|  50.0 2 1| 50.0 0 0 0.0
TR R R 3 2 1| 50.0 0 0 0.0 2 1| 50.0
A5 =) R A 2 1|  50.0 1 1| 100.0 1 0 0.0
JEB I B 2 R R 2 1| 50.0 1 1| 100.0 1 0 0.0
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HOE MR T 2 1| 50.0 2 1| 50.0 0 0 0.0
A A HER 7 SRR AL B P 2 2 1| 50.0 1 1| 100.0 1 0 0.0
TR 8 A P 7 P AR 2 1| 50.0 2 1| 50.0 0 0 0.0
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HFEU AR YT — o Ak B P A% 5 2| 40.0 0 0 0.0 5 2| 40.0
H A b R E AR 5 2| 40.0 1 1| 100.0 4 1| 25.0
JE I ] S P R e P A 8 3| 37.5 4 2| 50.0 4 1| 25.0
L 2 [ A BT R s 3 1| 333 0 0 0.0 3 1| 33.3
Vel 1 AR R R 3 1| 333 0 0 0.0 3 1| 333
[EHIE LR SE e 3 1| 333 2 1| 50.0 1 0 0.0
R 2 EE AL A% 9 2| 22.2 4 2| 50.0 5 0 0.0
£, IR BT P AR 5 1l 20.0 0 0 0.0 5 1| 20.0
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W R 5 0 0.0 5 0 0.0 0 0 0.0
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AT S AR AL R P AR 2 0 0.0 0 0 0.0 2 0 0.0
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FUM R RUANEY T — a2t 1 0 0.0 0 0 0.0 1 0 0.0
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TRER| ORER| AR | ZREK| AR E L] AR |ZRER| AREKR| Ak
TREE RSP 9 9| 100.0 9 9| 100.0 0 0 0.0
(PP E = 5 9 9| 100.0 9 9| 100.0 0 0 0.0
SRR B i R 9 9| 100.0 9 9| 100.0 0 0 0.0
Elol7 =T A = 9 9| 100.0 9 9| 100.0 0 0 0.0
T B 2 R 8 8| 100.0 8 8| 100.0 0 0 0.0
BRBRHA Rl S R 8 8| 100.0 8 8| 100.0 0 0 0.0
B AL 5 S A5 (RLBOR) 8 8| 100.0 8 8| 100.0 0 0 0.0
R 7 7| 100.0 7 7| 100.0 0 0 0.0
RN A U 7 7| 100.0 5 5/ 100.0 2 2| 100.0
A T 1 S R 7 7| 100.0 6 6| 100.0 1 1| 100.0
A SR 5 5/ 100.0 5 5| 100.0 0 0 0.0
A H R mE T 5 5| 100.0 4 4| 100.0 1 1| 100.0
i BT v S R 5 5/ 100.0 5 5 100.0 0 0 0.0
IEIYENCTHE =2 G es ) 5 5/ 100.0 5 5| 100.0 0 0 0.0
TR TR 3 3| 100.0 3 3| 100.0 0 0 0.0
I RPN i AR 3 3| 100.0 2 2| 100.0 1 1| 100.0
REEEFK 2 2| 100.0 1 1| 100.0 1 1| 100.0
SR o] e S AR 2 2| 100.0 0 0 0.0 2 2| 100.0
FE o] R e i S AR 2 2| 100.0 2 2| 100.0 0 0 0.0
TE R = R 2 2| 100.0 2 2| 100.0 0 0 0.0
ACHE B T 1 S A 2 2| 100.0 2 2| 100.0 0 0 0.0
FUARBE A 2 ) AR 1 1| 100.0 0 0 0.0 1 1| 100.0
LRI LT 18 AR 1 1| 100.0 0 0 0.0 1 1| 100.0
HHZK H e 5 S AR 9 8| 88.9 9 8| 88.9 0 0 0.0
] 221 1 S A 9 8| 88.9 8 7| 87.5 1 1| 100.0
Al R Be s B i v S5 AR 9 5|  55.6 8 5| 62.5 1 0 0.0
JEE L I 155 il e S R 2 1| 50.0 0 0 0.0 2 1| 50.0
At = R 2 1| 50.0 0 0 0.0 2 1| 50.0
T A [ s v B AL 2 1| 50.0 0 0 0.0 2 1| 50.0
8] 1 S AR 4 1] 25.0 0 0 0.0 4 1| 25.0
TN 1 S R 1 0 0.0 0 0 0.0 1 0 0.0

(1~311)
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(115%%)




